A cal
[ [
)
By
- P "‘

1

N

O —socker

——NIPPLE WITH HEX NUT

CHECK COVER |

. RUBBER WASHER
e ——— =

- ——GLASS PANEL

/ __NETHER CRYSTAL

FINTAL




INSTALLATION INSTRUCTIONS

PLEASE READ CAREFULLY AND SAVE THESE INSTRUCTIONS,
AB YOU MAY NEED THEM AT ALATER DATE.

CAUTION — Turn off the main power at the circuit breaker before installing the

Fixture, in order to prevent possible shock.

Rq
THh

move the fixture and the mounting package from the box and make sure
al no parts are missing by referencing the illustrations on the installation

Ingtructions.

Sq

FOR CEILING MOUNT ( Fig. 4& 5)

A)Place the #8-32 HEX NUT(3) onto the #8-32 FXTURE MOUNTING
REW(4). And attach the FIXTURE MOUNTING SCREW to the MOUNTING

RACKET(2).or universal mounting plate (whichever is provided). Do not tighten the
HEX NUTS at this time.(Fig.4)

B) If the fixture uses a single 1/8"1PS NIPPLE(4) for mounting, thread the 1/87IPS

HEX NUT(3) onto the NIPPLE, and screw the NIPPLE into the MOUNTING
BRACKET(2).without tightening the HEX NUT(3).(Fig.5_)

2

Pull the power supply wires out from the OUTLET BOX (1) and mount the

MPUNTING BRACKET (2) or the universal mounting plate to the QUTLET BOX(1),

us

3
Bl
thg

4,
fix
sc
C4
tig)
CA
pla

5.
fixi

IN

1.
sev
sey
tig
W
@

ng MOUNTING SCREWS(10).

Attach the power supply wire to the fixture lead wire by connecting BLACK to
ACK(6),and WHITE to WHITE(S). Connect the FIXTURE GROUND WIRE (8) to
SUPPLY GROUND WIRE(7) using a WIRE NUT(9)(not included).

Place the CANOPY(11) on the fixture over the OUTLET BOX(1) and onto the
Lure mounting screws ( or NIPPLE 1 ,and adjust the #8-32 [ixture mounting

ews (or NTPPLE) until they protrude out from the CANOPY(11) 1/4”. Remove the
NOPY(11) and secure the position of the fixture mounting screw ( or NIPPLE) by
htening the HEX NUT(S)(3) against the MOUNTING BRACKET(2). Place the
\NOPY(11) back onto the fixture mounting screws,(or NIPPLE), and secure into
ce using the DECORATIVE NUT(12) provided.

Screw in light bulbs that do not exceed the maximum wattage specified on the
ture’s wattage rating label, into the socket(s) on the fixture,

STALLATION COMPLETED

FOR CHAIN-SUSPENDED CEILING MOUNT(Fig.6)
Take the parts out of the mounting package and thread a 1/8” IPS HEX NUT (5)
eral turns onto each end of the NIPPLE (4). Screw the end of the NIPPLE (4)
eral turns into the threaded hole of the MOUNTING BRACKET (2) but do not
hten the HEX NUTS (5). Pull the SUPPLY WIRES (9 & 1) and the GROUND
RE (8) out from the OUTLET BOX (1) and attach the MOUNTING BRACKET
assembly to the OUTLET BOX (1) using the slotted holes on the MOUNTING

BRACKET (2) and the MOUNTING SCREWS (3) provided.

2.

Thread the SCREW COLLAR LOOP (6) onto the end of the NTPPLE (4) that is

facing down. Place the CANOPY (15) over the OUTLET BOX (1) and adjust the
SCREW COLLAR LOOP (6) and NIPPLE (4) until the midpoint of the outside

thr|

tads on the SCREW COLLAR LOOP (6) is centered (aligned) with the surface of

thef CANOPY (15). Remove the CANOPY (15) and tighten the HEX NUTS (5)

do
3.

wn on the MOUNTING BRACKET (2) and the SCREW COLLAR LOOP (6).

Open up the end links of the CHATN (17) and attach one end of the CHAIN a7

onto the FIXTURE LOOP (18) (not shown) of the main section of the fixture, Slide
the] THREADED RING (16) and the CANOPY (15) onto the CHATN (17) (in that
arder) and attach the other end of the CHAIN (17) to the SCREW COLLAR LOOP

()

4,
oth

Close the ends of the chain links.

Unravel the fixture’s lead and ground wires and thread the them through every
er link of the CHAIN (17) and out through the SCREW COLLAR LOOP (6) and

NIFPLE (4) assembly, starting with the chain link attached to the FIXTURE LOOP

(18

5

(not shown) of the main section of the fixture.

Attach the power supply wires to the fixture lead wires by connecting the

BLACK SUPPLY WIRE (9) to the SMOOTH FIXTURE LEAD WIRE (10) and the
WHITE SUPPLY WIRE (1) to the RIBBED FIXTURE LEAD WIRE (12), Loop

the

FIXTURE GROUND WIRE (7) around the GROUND SCREW (14) of the

MQUNTING BRACKET (2). (Note: Be sure to provide an extra 3" length of the
GROUND SCREW (14). Connect the remaining FIXTURE GROUND WIRE (7 to
the|[SUPPLY GROUND WIRE (8) using a WIRE CONNECTOR (13) (not
included). Place wiring and connections inside the OUTLET BOX ().

[}

Slide the CANOPY (15) and the THREADED RING (16) up the CHAIN (17).

Plaje the CANOPY (15) over the OUTLET BOX (1) and secure in place by

SCr

7.

ma.

gwing the THREADED RING (16) onto the SCREW COLLAR LOOP (6).

serew light bulbs into the lamp socket. Note: Make sure they do not exceed the
imum wattage specified on the fixture’s wattage rating label.

INSTALLATION IS NOW COMPLETED

ILOUTLET BOX
2 MOUNTING BRACKET
3.#8/32 HEX NUT
4 FIXTURE MOUNTING }
SCREW
5.WHITETOWHITE g
WIRE CONNECTION
6.BLACK TO BLACK
WIRE CONNECTION 8
7.SUPPLY GROUND
WIRE
8.FIXTURE GROUND 1
WIRE
9.WIRE NUT
10.MOUNTING SCREW
11.CANOPY
12.DECORATIVE NUT

12

1.OUTLET BOX
2.MOUNTING BRACKET
3.1/8” IPS HEX NUT
4 NTPPLE ,
5.WHITE TO WHITE
WIRE CONNECTION 9
6.BLACK TO BLACK
WIRE CONNECTION 8
7.SUPPLY GROUND WIRE
8. FIXTURE GROUND
WIRE
9. WIRE NUT
10.MOUNTING SCREW
11.CANOPY 12
12, .DECORATIVE NUT

10

0

OUTLET BOX
MOUNTING BRACKET
MOUNTING SCREW
NIPPLE
1/8” TIPS HEX NUT
SCREW COLLAR LOOP
FIXTURE GROUND
WIRE
GROUND WIRE
BLACK SUPPLY WIRE
. SMOOTH FIXTURE
LEAD WIRE
11. WHITE SUPPLY WIRE
12. RIBBED FIXTURE
LEAD WIRE
WIRE CONNECTOR
GROUND SCREW
CANOPY
THREADED RING
CHAIN

2 R

0 00

13,
14,
15.
16.
17,

Fig.6




INSTRUCCIONES DE INSTALACION

EA CUIDADOSAMENTE ESTAS INSTRUCCIONES Y

R FAVOR
ARDELAS

S PUEDE NECESITARLAS EN EL FUTUROQ,

PRECAUCION - D tc la linca de alimentaciép principal int
& - ciconi:cc a linca ﬁﬁ ggcn acion pnnclﬁ:;;cr:)g{wu; ggﬁ%%rogc

circullo antes de instalar ¢l aceesorio, a prevenir posib
SAque cl accesorio y ¢l paguete dc inslalacion de la caja y asegiirese de que 0 [3lta
ninguna parle comgamndagcon las tlustracioncs de las instruc&ionas Cc ﬂlsla acngn.

PARA MONTAR EN EL TECHO (Fig. 4& 5)

A) Cologue la TUERCA HEXAGONAL #8-32 (3) en ¢l TORNILLO DE
MONTAJE #8-32 (4), y una los TORNILLOS DE MONTAJE ala RAQUETA DE
MONTAJE (2) 0 a una placa de montaje universal (lo que se suministre). No apriete las
ERCAS HEXAGONALES cn csic momenlo.(Fig.4)

B) Si ¢l accesario usa un solo NIPLE IPS DE 1/8* (4) para el montaje, enrosque la
TUERCA HEXAGONAL IPS DE 1/8" (3) en el NIPLE, y atornille el NIPLE en la
ABRAZADERA DE MONTAJE (2). sin apretar la TUERCA HEXAGONAL (3).
(Figura 5)

2. | Halc los cables de alimentacion fuera de la CAJA DE CONEXIONES (1) y monte la
ABRAZADERA DE MONTALIE (2) 0 la placa de montaje universal en la CAJA DE
CONEXIONES (1), usando los TORNILLOS DE MONTAIJE (10).

Una el cable de alimentacion al hilo conductor del accesorio conectando NEGRO
corf NEGRO (6) y BLANCO con BLANCO (5), Conecte el CABLE A TIERRA DEL
AQCESQRIO (8) al CABLE DE ALIMENTACION A TIERRA (7) usando una
TUERCA PARA CABLE (9) (no incluida).

Coloque ¢l DOSEL (11) cn ¢l accesorio sobre la CAJA DE CONEXIONES (1) y en
los tornillos de montaje (o NIPLE), y ajuste los tornillos de montaje del accesorio #8-32
(0 NIPLE) hasta que sobresalgan del DOSEL (1 1) de '4”. Retire el DOSEL (11)y
asegure la posicion de los tornillos de montaje del accesorio (o NIPLE) apretando las
TUERCAS HEXAGONALES (3) contra la ABRAZADERA DE MONTAIE (2).
Colpque el DOSEL (11) de nuevo en los tornillos de montaje del accesorio (o NIPLE), y
asegirelos en su lugar usando la TUERCA DECORATIVA (12) que se suministra.

5. | Enrosque los bombillos en los zécalos de la lampara y asegarese de que no excedan
la pptencia (vatios) especificada en la etiqueta de clasificacion del accesorio, en los
socales o en el accesorio. :

INSITALACION COMPLETA

PARA MONTAJE EN EL TECHO SUSPENDIDA CON CADENA (Fig. 6)

1. Kaque las partes del paquete de instalacian v enrosque una TUERCA HEXAGONAL TPS de
178"(5) varias vueltas en cada extremo del NIPLE (4). Enrosque el extremo de! NIPLE (4) varias
Vvueldas en el hueco roscado de la ABRAZADERA DE MONTAJE (2) pero no apriete las
TUERCAS HEXAGONALES (2). Saquc los CABLES DE ALIMENTACION (9y | I)yel
CABLE DE TIFRRA (8) de Ia CAJA DE CONEXIONES (1) y conecte la ABRAZADERA DF
MONTAIJE (2)a la CAJA DE CONEXIONES (1) usando los ojales perforados en la
ABRAZADERA DE MONTAJE (2) y los TORNILLOS DE MONTAJE (3) que se suministran.

nrosque ¢l COLLAR RUSCADO CON QJAL (6) cn el extremo inferior del NIPLE (4) que
da hacia abajo. Coloque el DOSEL. (13) sabre la CAJA DE CONEXIONES (1) y ajuste el
COLLAR ROSCADQ CON QJAL (6) ¥ el NIPLE (4) hasta que el punto medio de las roscas
exiernas del COLLAR ROSCADO CON OJAL (6) esté alineado con la superficie del DOSEL
(15). Retire el DOSEL (15) v apriete ambas TUERCAS HEXAGONALES (5) sabre la
ABRAZADERA DE MONTAJE (2) y el COLLAR ROSCADO CON QJAL (6).

3. Abra los eslabones terminales de la CADENA (17) y unaatremo de la CADENA (17) en la
ARGOLLA DE FIJACION (18) (no se muestra) de la seccién principal del accesorio. Deslice el
ANILLO ROSCADO (16) y el DOSEL (15) en la CADENA (17) (¢n ese orden) y una ¢l otro
cxtreqo de la CADENA (17) a ¢l COLLAR ROSCADO CON OJAL (6). Cierre los extremos de
los eslabones de la cadena.

4. Destrence los hilos conductores del accesorio ¥ el cable a tierra del accesorio y enréllelos
alredgdor de cada dos eslabones de la CADENA (17) a través de el COLLAR ROSCADO CON
QJAL1(6) y la armazan del NIPLE (), comenzando con el eslabén unido a la ARGOLILLA DF
FIUAQION (18) (no se muestra) de [a seccion principal del accesorio.

5. Una los cables de alimentacion a los hilos canductores del accesorio conectando el CABLE DE
ALIMENTACION NEGRO (9) al [ILO CONDUCTOR SUAVE DEL ACCESORIO (10} y el
CABI|E DE ALIMENTACION BI.ANCO (11)al HILO CONDUCTOR ACANALADO DEL
ACCESORIO (12). Enlace el CABLE A TIERRA DEL ACCESORIO (7) alrededor del
TORNILLO A TIERRA (14) de la ABRAZADERA DE MONTAJE (2). Asegurese de suministrar
un CABLE A TICRRA DEL ACCESORIO (14) con 3 pulgadas adicionales de largo. Conecte el
otro CABLE A“TIERRA DEL ACCESORIQ (7)al CABLE DE ALIMENTACION A TIERRA (8)
usande un CONECTOR DE CABLE (13) (no incluido). Coloque el cableado y las conexiones
dentro de la CAJA DE CONEXIONES (0.

6. Deglice ¢l DOSEL (15) y el ANILLO ROSCADO (16} hacia arriba en la CADENA (17).
Cologye el DOSEL (15) sobre la CAJA DE CONEXIONES (1) y aseglrelo en su lugar
atomillando ¢l ANILLO ROSCADO (16) en el COLLAR ROSCADO CON OJAL (6).

7. Enrpsque los bombillos en los sécales de la ldmpara. Nota: Aseglrese de que no excedan la
potencja (vatios) maxima especificada en la etiqueta de clasificacion del accesorio.

AHORA ESTA COMPLETA LA INSTALACION

1.CAJA DE CONEXIONES FIGURA 4
2.ABRAZADERA DE MONTAJE
3.TUERCA HEXAGONAL #8-32 7
4.TORNILLO DE MONTAJE DEL
ACCESORIO i
5.CONEXION DE CABLE
BLANCO A BLANCO 9 _j_z
6.CONEXION DE CABLE NEGRQ E
A NEGRO i
7.CABLE DE ALIMENTACION A 3 H
TIERRA .
8.CABLE A TIERRA DEL !
ACCESORIO :
9.TUERCA PARA CABLE
10.TORNILLO DE MONTAIE
11.DOSEL
12. TUERCA DECORATIVA 12 5 ¢

(=]

FIGURA 5
1.CAJA DF CONEXIONES

2.ABRAZADERA DE
MONTAIE 5

-3

" J.ITUERCA HEXAGONAL | 8

IPS DE /8"
4NIPLE 9
5.CONEXION DE CABLE

BLANCO A BLANCO
6.CONEXTON DE CABLE

B B
NEGRO A NEGRO 3/? ] 10
7.CABLE DE ALIMENTACION 4
(=]

A TIERRA 1
8. CABLE A TIERRA DEL

ACCESORIO
9. TUERCA PARA CABLE 12
10.TORNILLO DE MONTAJE
11.DOSEL
12. . TUERCA DECORATIVA

CAJA DE CONEXIONES

ABRAZADERA DE MONTAJE

TORNILLO DE MONTAIE

NIPLE

ITUERCA IIEXAGONAL IPS

DFE 1/8”

COLLAR ROSCADO CON

QJAL

7. CABLE A TIERRA DEL
ACCESORIO

8. CABLE A TIERRA i

9. CABLE DE ALIMENTACION
NEGRO

10. HILO CONDUCTOR SUAVE
DEL ACCESORIO i

L1. CABLE DE ALIMENTACION
BLANCO

12, HIL.O CONDUCTOR
ACANALADO DEL ACCESORIO

13. CONECTOR DE CABLE

14, TORNILLO A TIERRA

I15. DOSEL

16. ARO ROSCADO

17. CADENA

e TR

i




